Top-down Ground Proof Proced

|dea: search backward from a query to determine if it is &
logical consequence &fB.

An answer clauseas of the form:
YeS<—ai Aax2 A...Aam

The SLD Resolutionof this answer clause on atcanwith
the clause:

a < biA...Abp

IS the answer clause

Yes <— ayA- - -A8i—1 ADIA - ADp A Gip1A - Aam.
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Derivations

L] An answeris an answer clause with = 0. That is, it ic
the answer clausges « .

L1 A derivation of query “?ju A ... A Q" from KB is a
sequence of answer clausgsyi, ..., yn such that
L1 ypis the answer clausgs <— g; A ... A Ok,

L1 4, is obtained by resolving;_1 with a clause irkKB,
and

L1y, is an answer.
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Top-down definite clause interpre

To solve the query@ A ... A Qk:

ac:="yesS < Q1 A ... A QK"

repeat
select a conjunctg; from the body ofac;
choose clauseC from KB with g as head:
replaceg; in the body ofac by the body ofC

until ac is an answer.
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Nondeterministic Choic

|1 Don’t-care nondeterminisntf one selection doesn’t
lead to a solution, there is no point trying other
alternatives select

L1 Don’t-know nondeterminismf one choice doesn'’t lea
to a solution, other choices me choose
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Example: successful derivati

b« f Ak

a<bAc. a<enf.

C «— e d < k.

f<—jAe f < c.

Query: &

Yo -
Y1
Y2
V3.

YES <— a V4 .

yes < eAf V5

yes < f

YES < C

e.

] < C.

yes < e

YES <—
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Example: failing derivatio

a<bAc. a<enf.

C < € d < k.

f<—jAe f < c.
Query: &

Yo: Yes < a

v1i: YyeS<DbAcC

v2: yes<f AKAC

V3 -

yes<— CAKAC

b« f Ak
e.

] < C.

va: YeS<—enkAc

V5. Yes< KAC
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